E3.0) SEE 1 HASCL) |[1_RHEGER) 2 MHA(S14) (2 MHEGESR) |[BERH(31L) |BEXH(ER)
b 4 2:54 1:08 1:08
EEEE 5 1:16 1:16
i 6 1:25 1:25
BE W% 4 1:52 1:25 1:25
BAx —% | 6 2:19 1:34 1:34
ZREEXA | 4 1:35 2:42 1:35
SRR 4 1:47 2:49 1:47
R 4 2:08 1:51 1:51
Y28 A 4 2:23 2:54 2:23
£M B 3 2:25 2:25
RUAISE 4 2:44 2:44
HEE— | 1 2:45 2:45
INETRIA 2 12 2:50 2:50
Rk 2 19 19
AR 3 17 19 19
EAERR 4 15 18 18
MNEEE 3 15 18 18
[ 1::E2PN 3 16 16
EOBE 3 16 16 16
HEEES 4 10 16 16
HHEH 3 0 15 15
RERKE | 3 2 15 15
ENLE 6 14 14
EHRE 3 14 14
MEREF | 1 13 14 14
SFRF 4 12 14 14
WS 1 1 13 13
HEES 4 12 12
#iE R 2 12 12 12
B 2 9 9
B EEH 5 9 9
£F BN 2 9 9
HAE— 4 7 7 7
WA B 5 7 7 7
EHLE 4 2 7 7
KRB H—H | 2 1 7 7




